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line such that at r seconds. 1 > 0. its velocity. v ms™ is given by:

v=12-27¢

() 'ﬂ%d’MPw&eﬁmdmﬁm
(¢) the value of r at the instant P retums to its starting point.

teacher sﬂllvﬂlﬁ a random sample of 56 students and records, to the nearest hour, the time spent watching
television in a particular week.

Hours 1-10 11-20 21-25 26-30 3140 41-59
Frequency 6 15 11 13 8 3
Mid-point 55 155 28 50

(@) Find the mid-points of the 21-25 hour and 31-40 hour groups.

A histogram was drawn to represent these data. The 11-20 group was represented by a bar of width 4 cm
and height 6 cm.

(b) Find the width and height of the 26-30 group.

(¢) Use your calculator to estimate the mean and standard deviation of the time spent watching television
these students.

(d) Use linear interpolation to estimate the median length of time spent watching television by these

C may have carried out a random sample?
o other sampling methods they could have used?
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A uniform ladder AB of mass 20 kz and lengfh © m » = 5=
with one end A on rough bonzomal mound and e e =
B against a smooth vertical wall

The coefficient of friction between the ladder zmud Sz zomnd
1804

The ladder makes an angle & with fhe momnd

Given that the ladder 15 on the poms of shppms

on the ladder a

 (b) Find the valuc of 10 1 decimal piace
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